ITEM 2.D.2
WWTP PERFORMANCE DATA (2011 -2014)



d-9¢5¢ OML 1oday Buuesuibug

G10Z udy 0I0QSHId JO UMO |
29 85°€ 86 66°L 6L | i0/AIQ¥ 6692 150 262 €69 EEEVE gce 80°ZIE | 156l B 6220 8Ev'0 | sabesony
662 | 00t | seve | ozt | g0 | 6662 S0 | 9802 05z | 0082 022 00L¥E | 0LSL |62/629| SIS0 ¥87°0 |1L0Z 990!
9L | 009 | 9012 | o9¢ | @50 | ssze &el 822 | OEL [ 0006E | 00 | 006 | 084F |B0ZwE9| 1080 | Livo |13 7oN|
| 8L | 00Z | e8ve | oz | 860 | ovee 99’} ISzl [ 02l [ 0089 | Ovv | 00B9E | Oblz |668e59| €120 | Zev0 110890
| 25z | ooz | ezoe | o9t | so1 | B e D Leie 08 00'80E | 06 | 00'F/2 | 09vZ |£.i209| evz0 | 10v0 1.0z ‘deg
11z | oot | eeez | ost | iz | 96'2¢ 910 0¥'Se 006F | 00¥ZE ov'E 00582 | Or'9z |8v'8-91'9| €920 | - |iroz By
o089 | o0t | ovie | ore | est | 86€€ £t 9/€e 08'8 000S€ | oLg 0026z | 0092 |1S8-9+9| 26L0 | ©680 | Loz nr
| 969 | 00 [ else | ooF | esr | gz @0 |50z | osz 0090z | 097 | 006¥2 | 00vZ |0Z-BEQ| S020 | 00vO |10z unr]
6K [ o0 [TeEve | ovr | ovk | eesz veo | ooel | oge 00052 | OEE€ | 008vZ | Ov0Z |Eelv29| S820 | €9v0 |10z Aew|
95, | 00 | erer | ogr | oor | otz zio szoz | oel 00°59% 00't 0006E | OV'Z+ |p2/-6£9| 2ve0 | SOv0 |10z idy
~ers | 006 | seoz | oer | oer | 6222 10 veee 009 | 00'99% 0Tz 00L€E | 06Vl |L¥I¥9G| 2ec0 | Z9v0 |10z Jem|
88 | 00F | eeez | o09r | 09t | egve 610 ov'6e 06'v 00698 | OE€ | 00WOE | OzEl |91Z2s9| 6080 | S2v0 |110z 9o
w8 | 0L | sfee | ose | et | szez 810 0L IE 06kl | ooovE 0r9 | 0062€ | 09zl | F12-99 | 6820 | S0 |10z Uer]
N - = - = I T T I B S I E—
[} T @ @
g g = g o 8 g
< o s = 2 z o 2 @ @ =
g o g = g z I » O o T ZF | 3§ 2
o g 2 z k=S 3 Z Z 7 g m §< ES =
2 3 = 3 E < E 3 3 @ 3 am 2 >
Q = T Q@ 3 & = 1] = = 22 ut )
g 3 E = @ ; = = = o @ s s =
2 = 3 = = - = ol = _
3 S a Q o 3 3
Q 3 B i ] = e
— —: { Seapt S?

1102 H39IN3030A - LL0Z AHVNNYP
(¥S€020000N LINY3d S3AdN) V1va FONVINHOHHId LNV1d INIWLIVIHL HILVMILSYM
0oHO0gS11id 40 NMOL



d-9¢5¢ OML uoday Bupeauibug

G10g |udy 0I0qShid JO UMO |

Sv'8 €ce 8v'8z | LIl oL 68°'12 1962 L0 | i0/AIQ% | v80 €801 [F 00'Z€€ | leoe - €120 9/€0 | sebeiony
- vL'6 | 000 | sezz | 09F | 6ri | ze0z v6'82 510 000 00261 020 | 00€82 | 09°9F |20659| 0620 6L7'0 |2L02 920
506 | 00k | esle | ovk | 981 | 92z voee 000 000 00212 020 | 0060E | OEZL |669-G99| €420 0/E0 |2L02 "noN
| €8 | 00 | essz | 080 | 1it | 053z ve62 800 000 00612 020 00SSz | obiz |10Z-Se9| veeo | 20v0 |2L0z 190
| €62 | o0t | ss6c | o060 | vl | - 6Y0E €10 000 | 00ESE | O0EZ | 00026 | 092 | 2259 | 6820 | S980 |zi0z ®S
997z | ooz | szze | ot | sz | l (Ges 10 000 00°18€ 000 00'86€E | 0992 |6+/9€9| ¥520 8260 |zl0g Bny|
S S¥8 | 00§ | wwe | oer | srr | €19 140 000 00’12 | 0S5z 00982 | 0992 |6V/-189| 6020 6LE0 | zloZ Inr |
18 | 009 | sste | ozr | esi | vL2e 600 oLz 00262 0ee 00'kSE | 0£'Sz |Z€.€89| 2820 2280 |2toz unr|
- 1z8 | 00v | 90te | 001 2s'}  g0vE ZLo 000 00°2EY oLz 009%y | 012 |¥99-959| 1¥20 L.80 [zlog Rew
| evs | 00t | size | oor | e T L1182 900 ) 000 | o09le 000 00’00y | 06'8F |le/689| vS20 €/€0 |zLog 1dy
| €68 | 001 [ ezl | o080 | zih | osiz 50 020 | 00ZEE | 000 | O000E | 099F |€82159| 9280 | [2ioz 8
[ w6 | o0z | ez | ovr | €5t | ozez 610 00v | 00/88 | OvZ | 008YE | O6EL |v2/€L9| 6420 | 02r0 |2i0Z God]
6L | 002 | esez | orr | ezi =T Y10 0ze 00°/2€ 0ee 008YE | 0S¥l |8€Z-¥99| 9820 | SSv0 |2102 uer|
I T = T = O T= T = T N = R B BT 3 i =R {E] 7= - R B

9 I 5 B 3 3

= ) @

2 m W . mq m m M Z

< N = zZ O _

& 5 o = 8 z i @ 3 @ o gg | o S

) 5 E 2 o z Z a 5 £ = £Eg | ES 5

2 3 ES 3 : e 3 = 3 E E 21 2o =

B % B < & 3 @ e Q@ O 23 g 2 2

3 — 3 = 3 = _] @ = =

3 8 & Qe 2 = =

Q 3 (= 2 a a

S 3 a =

€102 H39IN303a - 2102 AHVNNYP
(¥S€020000N LINY3d S3AdN) V.1va FONVINHOLH=Id INV1d INJWLVIHL HILVMILSYM
0HOdS11ld 40 NMOL



d-9¢52 OML 1oday Bunesuibug

§log |udy 0I0GSHId JO UMmO |
59’8 000 iz Vel 620 v8C evee VL0 | i0/NIQ# [ ¥20 | €eZle | €0 | 85652 | S68I - ) S9v'0 | sebeiany
816 | 000 | oesr | vzt | 8L | 162 002 £2°0 000 00'8€c | 90k 00982 | OFSh [0Z-Sv9| /680 | 16v0 |£l02 980
[ @68 | 000 | 099 | b | it | 8fE iz 500 000 | 002se | G20 | 0000E | O8LL [269-55'9| 0820 | 6860 |€10Z AON]
[ 98 | 000 | OVOE | 20t | er0 | Sre  ziie 000 000 | 00282 | 810 | 00082 | 0S5z [svZ-v69] ¥970 | ove |6102 B0
[ zz8 | 000 | orzz | €80 | o | e or'8z 000 | | o000 0022 920 00862 | Ol |80°Z-89°9] 9520 S6€0 |elog 'deg
6L | 000 | eeSz | 860 | k0 | S2E  ieez 000 000 | 0082 | 000 | 009/2 | 00GC |669-8.9| +v20 | S0v0 |eioz Bny|
062 | 000 | oosl | 98t | Zzo | St og6l 590 | | eor | ooeez | v60 | 00452 | Obbe [S29-S29) 60v0 | €050 |eloz inr ]
208 | 000 | seel | w80 | os0 | ori 220z 000 000 00791 000 0049¢ | 0822 [YO'L-vL9| LBEOD | 8IS0 |E€Loz unr|
- 6v8 | 000 | se0z | sor | szo | 0022 00 | | reo | 000z | 60 | o0esz | ogel 20L-1L9) 2v€0 | e8v0 |eL0z Kew|
6,8 | 000 | et | esr | eso | Sv'ee  vio | ¥9'k | 002£L | 120 | 0066z | 089l |60Z- 99 2950 | SIS0 | eroz 1dy
[ 96 | 000 | erer | ose | 8T | c9pl w0 | [ 000 | 00tsk | ozo | o00ez | ozl [60Z-699] S0 | S6v0 |eioz N
e | 000 | 60wk | ori | osr | BY'SL IO 000 | 0025+ | 020 | ooszz | orel |0Z-€99| €880 | €850 |€i0z 984
[ 626 | 000 | vzsr | oFt | Sb | pi6 o0 || o0 00€Lk | 020 | 005Gz | Ovpl |869-899 0880 | 1sh0 “|eroz uep
AT = T = I = I - I I L. E L S N N O T = - R S A B
o I . 3 3
o — e e
g g z . S 3 3 3 z
< o = =z ° .
8 | £ & | 3 8 = 5 4 3 : | 2 | 32| =28 | §
Q g = = R S z : & £ 5 5< §< :
< 3 = 3 & 3 3 3 = = 2 o
s} b T @ 3 S 3 Q Q@ = 5] 5] 2
[} E*S - = Q B Q = = a » = = =
2 - 3 = = = & @ = =
3 8 Q Q 2 3 3
& 3 B I @ = g
= El = =

€102 H39IN3030A - €102 AHVNNYI
(¥S£02000ON LINY3 S3AdN) V1va FONVNHOSHId INV1d INJWLVIHL HILVMILSYM
0do8gs11id 40 NMOL



ad-elve OML

Hoday Bunesuibug

¥10¢ 180100 Slle4 ajueIs) Jo umo |
2.8 187 8581 181 | 170 h 9v'S S1°02 €20 v9'9L L 161 280 f €9v92 | €98l - 280 9050 | sebereny
926 | ev0 | 96vi | iﬂm.\v\A‘\Wﬂ_ 97 o0s9L 200 | 00012 | 60t |169€99| 10v0 | 250 |vioz 984
868 | ese | 961 | 61t | 8+ | o995 9202 900 | 8SEIE | 0SZF |669-599| 9080 | 0Zv0 [pi0z AoN
[ ove | €20 | esz | 4T | 50 | vz 0,8} €00 €9962 | 92l |12.€89| 2820 | 05v0 |vioz 190
86 | 000 | o8l | w2t | 9o | 807/ 5861 000 2r8l | 000 00°€2e 000 05292 | 82¥2 |8+/v69| S820 | O8vo “|vrog “des
108 | 000 | 800z | o0zl | 650 | 2z eziz 090 | 9gl | 2ez | o009tz | 000 | 00S2E | veve |ibL-199| €280 | €600 ~|¥1L0g By
6L | oo | 8oz | w1 | ¥90 | 659 €082 000 | orZi | ooo | 00'9v2 000 | 00'8LE | 0052 |S69-499| 6320 | 90 | ploznr |
862 | 000 | 26tz | 021 | =0 | sv9 ez 000 191 000 00vee | 920 | 00206 | 09¢€z |607859| beeo | 660 |vlog unr|
wse | wer [ Zvie | wer | o | eig 0522 000 | wwZk | og+ | 0016l [ 821 | o0Gez | oooz [6898v9| 99rg |  $0S0  |rL0z A
- ve'8 [ 000 | zier | zer | ero | =z evoz o [0zl | 2k | 0080F | 9/0 | 009iz | 0BG |¥89v99| 2iS0 | 9090 |10z dy
Zv6 | 0LS | ozvi | ige | 620 | 6v2 008 vl | orel | szg | 00zl | 68% | oovez | 052k |16'9-LE9| 6160 | 2190 |vi0z ien
096 | ool | wevi | sii | z0% | 89z 809l 200 | IS | oosyl SOt | 0080z | 00ZF |e69-vE€9| 6sv0 | €090 ~|vioz ged]
196 | 629 | 6% | svz | 00F | 62  o9v9l 080 | S6EL | SEt | 00WLI | 90F | 00cez | ozl Jeez-ovel o | 1950 [ v10z "uer |
E] BT T = I = T = T R R T = T = O T = B = I = T S A B
g m 3 3
g 8 = S 5 3 3
8 4 3 . = 3 3 ? =
o = =
2 & & = g z I 2 2 3 » | 19 | 29 | &
Q g z =z < 3 z @ j= e = £z £Z =
< 3 =4 3 p a p 3 3 3 =i i i) =
Q = @ Q 3 3 3 Q Q = <] 5] 2
2 3t ,. = Q = Q = = 2 @ 2 = =
2 = 3 = 3 - @ o =
3 S ] Q g, 3 3
= 3 _ " 5 i g
2 3 a a

(¥S€020000N LINY3d S3ad

¥102 H38IN303a - ¥1L02 AHVNNYP

0HOo8gs11Id 40 NMOL

N) V1va 3ONVIWHO4HId ANVId INIWLYIHL HILVMILSYM



